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QUESTION 1

Retailer ABC is using IBM Sterling Order Management for its two sub- divisions(enterprises): ONLINE andRETAIL.The
retailer wants to configure a set of users who only have access to the transfer orders (TRANSFER_ORDERS document
type) for its ONLINE division (enterprise). 

How should an implementation professional configure these users in IBM Sterling Configurator? 

A. Configure users under the ONLINE enterprise and assign them to a team that only has access to the ONLINE
enterprise and the TRANSFER_ORDERS document type 

B. Configure users under the ABC enterprise and assign themto the TRANSFER_ORDERS document type in the user
configuration 

C. Configure users under the ONLINE enterprise and assign them to the TRANSFER_ORDERS document type in the
user configuration 

D. Configure users under the ONLINE enterprise and configure a data access policy that only allows access to the
TRANSFER_ORDERS document type 

Correct Answer: A 

 

QUESTION 2

Consider the following charges made: 

Sales Order 1 (sales order is for $250) 

o CREDrT_CARD1=$150 oDEBIT_CARD1=$100 

Sales Order 2(sales order is for $300) 

o CREDIT_CARD 1 = $150 

o DEBIT CARD1 =$150 

The same payment method, CREDIT_CARD_1, was used on both sales orders The following payment setup was
previously configured: 

CASH refunds to new CASH, unless greater than $200, then CASH refunds to CHECK 

DCBIT_CARD refunds lo now CASH 

CREDI1 CARD refunds to itself 

If the customer decides to return both orders, which refund scenario is correct? Return Order Refunds: 

A. $300 to CREDIT_CARD 1 $250toDEBIT_CARD1 

B. $150 to CREDIT_CARD 1 $400 to CHECK 

C. $300toCREDIT_CARD1 $100toDEBIT_CARD1 $150 to CASH 
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D. $300toCREDIT_CARD1 $250 to CHECK 

Correct Answer: D 

 

QUESTION 3

An implementation professional creates a custom or hang-off entity. Which statement about this process is NOT true? 

A. Invokes Extensible APIs that store and retrieve data from hang-off tables 

B. invoke dbverify for generating appropriate SOL scripts to create or alter tables for custom or hang-off entities 

C. Does not provide ability to Audit item and organization tables DCreates a relationship between a standard table and a
hang-off table 

Correct Answer: C 

 

QUESTION 4

In an IBM Sterling Order Management implementation, a customer wants to change the status of an order once the
shipment reaches the "shipment picked\\' status. 

Which component of the order pipeline should the implementation professional configure to achieve this? 

A. Composite service 

B. Transaction 

C. Listener 

D. Service Definition 

Correct Answer: B 

 

QUESTION 5

Which of the following is NOT an advantage of implementing the Promising Server? 

A. Multiple order servers can access the same Promising Server 

B. Businesses are allowed to coordinate multiple servers for inventory and promising 

C. Inventory and promising is housed in one system for all participant channels and organizations 

D. Inventory can be shared across enterprises and nodes that belong to different colonies on the Order server 

Correct Answer: B 
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